|

QEEE%E 2 E AR

B Z A A] 2019. 3. 29.(&) /% 5" (E&2)

P A&, A AN, 58 23

o oz} * B (044)201-4215, 4216 ]
A - HA A=, A}%a& B, FRH 4G
* B (

201941 38 302(S) ZAE LEato] FAI BRI
% SAYEQEUS 3.20.3) 11:00 0|F 2= JHs

20194 OlHl &2m(3.31~10.26), 210l EIMIR

- 3€ 31YEEH FA - FF=Ae I2ASE HA -

O SEZFTHES 2dme 3 ¥ 2 3}
71%k(19.3.31~'19.1026) &% FAAY A H7H FF+F
AR F(2AF)S A7 A T

~ MA HFE H2E2 olF 7
Azt st AEA 0| &

o =
=gt

9| A okA|ZHA|(daylight saving time)ol|l th2
N X E 2I5h 1dol 2X(S5H) ™S =F

ook 0

(] ol A7 s ZANE 947] FZA7E & 3857] Alo %
5,833 233 Adolw, AJ AL tn]ste 334
3013) ¢k +6.3%) =7}3 Ao

e d

N N

o IF7PERE Yo HAl F31F9] oF 23.0%(F 12588)2 7HF
B HFE AASRIL, T o2 F3 ¢F 226%(F 1,2403)),
ol oF 9.3% (5 5083]), BIEY <F 9.0%(F 4913]) 59 <=o|t}

- 718 3tA thv] =3 #7} 7}72} ‘{—%01 S7hE =7k 5 9837t
71k dielal, tao] HEWF 823)), BAOKF 363) 5] oItk

F9 79 18 A tibl &F3157F 2.9%(F 1,205 — F 1,2403])
=R, A=AA oA 16 sHA &3t HlaLstA oF 94.2%
_{l:



dudt AuEFETAEY AT dEF S
H(Ad A F 14608 — &3 A F 1,6453], oF 12.7%),

rir oot
o
o
oy
—o

= AFEIHF 23 1), BlSo|F 433] 1), odoF4LHF 393 1) & AH|&-
FGFALY] B Fol, gAol 5 235 FUF Az BN
s 2 MH|REZAK0|5 LCC) 194 3P U= 28k 184 sHAl o] 3= 813 1
(3= 6B3-% 7775), HIEL T3] (3 15831-F 1883), 2iAlo} 3213] 13 108}-F 313)
~ 2 OC 18 31 ChHH| 198 S AT FSZAIGR) : olHl2l| xIajol|, 510|7S
o ofge], A FAFIAA I35 Frkglon, E3 TEFE
(F 7731 1), F-L4&3F 503 1), A3 FIHF 433 1)oll A =357t
U= Aol &A4e] Helo] FE Ao=E 7|gEth

O =2 F 2] =AM F 189135 +@ste d sHA
71zt givl L¢3 ¢7F F 2138)(07%, FEVF) FHEHAC.

o AFxAavme F 152332 Hd A7z ¥, F 83 ¥
052% )= o] FFA 0] 13,7464 0] ZHAHH

- B3, AFIFFF 1438, AFoAH)
= 4
<

33 ZAE 3 dAolH,

oo}

- IEF 133], AFotT - 24 95, FojJo)(F 143, AFoH),
5 % 353 =4

(F 33, AFoa - T - &4, O|ZEHF 53], AT =)

o WEEAM9MS F 3683E d sHAZIRE il F 133] ZHHE4% | )=
HEgFe 71FUAE o2 AA FFAH L 5244 F/HETH

= TUAe] F A F= F 2130H, WERAHY F54 S7K5244) =

= 7 Bol AA FFFHA142700) 2 Fa

[ FEAFTHR= FFHE o| &5l AP st A 331U F-E
HAE = A *F2AEES FFA SH0lA 5= T3 vy
A 7S FEIAT

Ol EXA=2 2t&0t0 20 XMt LE0lL FIHE 2 otAlE
S S (B 044-201-4216),
-201-4222) Ol Hl A== AI1D] BFELICEH.

332 ZIHIE KR0/28Y

_2_



(9 F3H/ S8
184 | '194 = o 184 | 194 -
= st A | stA| T 7 = st A | st A | °
Uz . == + o
= 1,205 | 1,240 35 = 61 68 7
ol 1,160 | 1,258 98 ZakA 33 33 0
A 2,365 | 2,498 133 A EZ o} 18 19 1
7| Ef of Al o} A= 28 27 N
e 267 256 A1 E=E= 15 15 0
oz 294 290 A4 E{ 7| 21 24 3
Eff = 187 205 18 ol Etz| o} 27 27 0
B E = 409 491 82 & 7| of] 8 7 A
C ot 220 249 29 AQIA 4 4 0
Atz= 81 75 NG mete 7 7 0
atzf o| Al of 109 115 6 A9l 3 2 N
Zt=c|o} 26 22 A4 = 8 8 0
ol = 1| Al o} 38 40 2 SEdE=23 3 3 0
olz 18 18 0 A 9l 12 16 4
o7t 42 49 7 TN 4 4 0
| = 3 3 0 EELEI 0 3 3
2l A 33 23 A10 Z2c 5 5 0
B2L}o] 3 5 2 29 257 272 15
o| Qfo} 7 7 0 7| E}
27 1,737 | 1,848 111 2{ Al o} 114 150 36
ol = PEH|F|IAEH 17 19 2
o|= 505 508 3 ofgtoflol2|E | 28 28 0
= 34 36 2 2= 16 22 6
2atA 2 2 0 == 11 12 1
2 2| 0 2 2 oAzt 3 3 0
o = 0 2 2 RS A EL 16 17 1
WAl 2 8 8 0 ol E| 2 x| o} 4 6 2
2 549 558 9 OfxM| 2 H}o| &t 4 3 A
of ok F 27 213 260 47
a3 23 23 0
FARHE= 5 4 N
| X| 3 3 0
z2 6 4 A2
A 2|27} 3 3 0
22 3 3 0
2 43 40 A3

(2EEH) M@ 184 SHA : 35,1643 m 194 StA @ F5,4763]

Op

# 13| SHYORIE Vil FIE AFE BT SEBAL T A2 HRIZE 20|




{F
oK
00
ol_.._.

[E22] 184 OBl =sWHM HEWHY

9=

203

42

14

14
14
28
21
21
21
11
14

41
115

368
112
136

A
18

201

50

14

14
14
28
14
381
21
21
18
14

41
220 : 207

107
118
122

0

0
0
0

21

Elsilol

0

35 35
0

21

127| 97 97 | 878 | 860
169 | 160 160 | 1,912 1,891

0
14

7
0

21

O|AE}

122
7
0
14

21

F

A
(i)

=]
T

95

14

14
0
14

91

16

112 114 7

13
0
13

105| 36 @ 36

0
14

Zlollof |oilof

196 196 | 253 258 | 171

35 49

0
119
14

14
134
14

21

58 44 | 28 1 28 | 79 | 80

7
134
14
14
21

0

0

14

14
191

3

21

21

14

0

14

14
191
3
21
14

+= | OFA| oL | H| FEHS

I
S

14
0

170
7

F

=
[l

CH

18S9l 81N 91 81A 81 9 =S 8 =l S 9NN 8 Sl S 9A N1 8= S S (S B =N O

548 531|336 336|248 241

213198 | 42 42

179
7

H| 45 @ 45
3

S| 96 @ 94

~

H

NIl

K-
Z0)

H

NIl

5]

M 727l | 335 333|294 294|241 227|196 196| 141 144|164 169|160 160|1,531 1,523
2 A

Ma+—2=| 34 28 |3 35
M-8z 24 24 | 21

ZE-Ci+ 0
M|F-CH| 24 31

LA

=
IS[ESSCES
IS[EEINFS|
=52

700

M0



